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Of the 66 people in a certain auditorium, at
most 6 people have their birthdays in any one
given month. Does at least one person in the
auditorium have a birthday in January?

i More of the people in the auditorium have
their birthday in February than in March.

ii Five of the people in the auditorium have
their birthday in March

O Statementi) ALONE is sufficient, but statement i) alone is not
sufficient

O Statementi) ALONE is sufficient, but statement ii) alone is not
sufficient.

O Both statements together are sufficient, but neither statement ALONE
is sufficient

O Each statement ALONE is sufficient.

(@ Statements i) and ii) TOGETHER are not sufficient.
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Andre has already saved 3/7 of the cost of a
new car, and he calculated that he will be able
to save 2/5 of the remaining amount before
the end of the summer. What fraction of the
cost of the new car will he still need to save
after the end of the summer?

QO 6/35
O 8/35
® 12/35

O 23/35

O 29/35
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What percentage of staff did not work in
either Operations or Others in 20107

® 46.50%
O 4850%

O 5250%

O 54.50%

O 57.50%
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Select the right answers to the following
questions:

An airline recorded 65,000 passengers
traveling the LOS — LHR route in 2003. If the
airline recorded an increase of 45% in air
traffic passengers on the same route in the
year 2004, how many passengers traveled that
route in 2004?

O 87,750

O 35750

O 93150

@ 94,250

O 78750
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Bob leaves point A and drives west to point B.
From point B, he drives due south to point C.
How far is Bob from his original location?

i Point A is 24 miles from point B.
ii Point B is 18 miles from C.

QO Statement i) ALONE is sufficient, but statement i) alone is not
sufficient.

O Statementi) ALONE is sufficient, but statement ii) alone is not
sufficient

@® Both statements together are sufficient, but neither statement ALONE
is sufficient

O Each statement ALONE is sufficient.

O Statements i) and i) TOGETHER are not sufficient
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Real Madrid is first in the league and Real
Betis is fifth while Osasuna is right between
them. If Barcelona has more points than Celta
Vigo and Celta Vigo is exactly below Osasuna,
then who is second?

@ Barcelona

QO Osasuna

O Real Madrid

Q CeltaVigo

O Athletico Madrid
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Mr. Shah decided to walk down the escalator
of a tube station. He found that if he walks
down 26 steps, he requires 30 seconds to
reach the bottom. However, if he steps down
34 stairs he would only require 18 seconds to
get to the bottom. If the time is measured
from the moment the top step begins to
descend to the time he steps off the last step
at the bottom, find out the height of the stair
way in steps? a. 467

O 46
oz
oX Y
@ 41

050
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Select the right answers to the following
questions: |koyi's population is 68,000,
decreasing at a rate of 80 people per year.
Lekki, having population 42,000, is increasing
at a rate of 120 people per year. In how many
years will both cities have same population?

O 124

O 160

O 148

® 130

O 184
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Tabl ToN

Percentage of Total Staffin Each Function

If TGC employed 1,500 staff in 2014, how
many worked in Finance?

® 120

O 122

O 124

O 126

O 128
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Select the right answers to the following
questions:

What is the reflex angle formed between the
hands of a clock when the time is 1540 hours?

® 210

O 160
O 150

O 120

O 310
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A garrison of 3,300 men has provisions for 32
days, when given at a rate of 850 grams per
head. At the end of 7 days, reinforcement
arrives and it was found that now the
provisions will last 8 days less, when given at
the rate of 825 grams per head. How many
more men can it feed?

O 1,400 men

QO 5775men

® 105 men

O 1,700 men

O 5950 men
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A garrison of 3,300 men has provisions for 32
days, when given at a rate of 850 grams per
head. At the end of 7 days, reinforcement
arrives and it was found that now the
provisions will last 8 days less, when given at
the rate of 825 grams per head. How many
more men can it feed?

O 1400 men

Q 5775 men

@® 105men

O 1,700 men

O 5950 men
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Percentage of Total Staff in Each Function

tégiﬁlﬁ.! e
elelelelee

In which year did the percentage of staff
employed in Customer Service show the
highest percentage increase compared to the
level of the previous year?

O 20m

O 2012

® 2013

O 2014

QO Cannotsay
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A researcher computed the mean, median and
the standard deviation for a set of
performance scores. If 5 were to be added to
each score, which of these three statistics
would change?

O The mean only
O The median only

QO The standard deviation only

@® The mean and the median

O The mean and the standard deviation
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If n=3%-28 which of the following is nota
factor of n?

® 97
065

03

013

o5
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At apartment complex Z, 30 percent of the
residents are men over the age of 18, and 40
percent are women over the age of 18. If there
are 24 children living in the complex, how
many total residents live in apartment
complex Z?

o
@® 80
O 9%
O 12
O 124
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Aball is drawn from a bag containing 8 blue
balls and an equal number of red balls. What
is the probability that the ball is red?

O%
Ou
023
o=

@® None of the above
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Richard is a strange liar. He lies on six days of
the week, but on the seventh day he always
tells the truth. He made the following
statements on three successive days: Day 1: “I
lie on Monday and Tuesday.” Day 2: “Today, it's
Thursday, Saturday, or Sunday.” Day 3: “I lie on
Wednesday and Friday.” On which day does
Richard tell the truth?

O Wednesday

QO Friday
QO Tuesday

b Monday

@® Cannotsay
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Is the average (arithmetic mean) of a, b and ¢
equal to 8?

i Three times the sum of a, b and c is equal to
72.

ii The sum of 2a, 2b, and 2c is equal to 48.

@® Statement i) ALONE is sufficient, but statement i) alone is not
sufficient

O statement i) ALONE is sufficient, but statement ii) alone is not
sufficient

O Both statements together are sufficient, but neither statement ALONE
is sufficient

O Each statement ALONE is sufficient.

QO Statements i) and ii) TOGETHER are not sufficient.
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A wizard named Nepo says “l am only three
times my son's age. My father is 40 years
more than twice my age. Together the three of
us are a mere 1240 years old."How old is
Nepo?

O 400

O 2

® 360

QO 450

O 220
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How many people are directors of both
Company K and Company R.

i There were 17 directors present at a joint
meeting of the directors of Company K and
Company R, and no directors were absent.

ii Company K has 12 directors and Company R
has 8 directors.

O Statementi) ALONE is sufficient, but statement i) alone is not
sufficient

(O Statementi) ALONE is sufficient, but statement i) alone is not
sufficient

@ Both statements together are sufficient, but neither statement ALONE
is sufficient

O Each statement ALONE is sufficient.

O Statements i) and ii) TOGETHER are not sufficient.
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There is clear evidence that the mandated use
of safety seats by children under age four has
resulted in fewer child fatalities over the past
five years. Compared to the five-year period
prior to the passage of laws requiring the use
of safety seats, fatalities of children under age
four have decreased by 30 percent. Which one
of the following, if true, most substantially
strengthens the argument above?

@® The number of serious automobile accidents involving children under
age four has remained steady over the past five years

(O Automobile accidents involving children have decreased sharply over
the past five years

(O The use of air bags in automobiles has increased by 30 percent over
the past five years

(O Most fatal automobile accidents involving children under age four
occur in the driveway of their home.

(O The number of teenage drivers has increased by 30 percent over the
past five years
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Q44

Foreign exchange is the rate at which one
currency is exchanged for another. Assume
Naira exchanges at N350/dollar, then the
Naira appreciates when

Toggle Ve
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In which year did Customer Service in TGC
employ the largest number of people?

O 20m

QO 2012

O 2013

® 2014

Q Cannotsay
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Select the right answers to the following
questions:

What is the acute angle formed between the
hands of a clock when the time is 1400hours?

® 60
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If 1,450 staff were employed by TGC in 2011,
how many staff worked in Marketing?

O 145

O 189

O 200

® 290

O Cannot say
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Merchandising tactics, which address the
effective packaging and positioning of goods,
have long been within retailing to stimulate
customer demand. Unprecedented changes in
consumer buying habits and the escalating
sophistication of technology have encouraged
the beverage retailers to make up lost ground
and to adopt the merchandising philosophy
wholeheartedly after years of neglect.

The principal penalty incurred by past caution
is that decision-making is now hampered by
the scarcity of quality merchandising
research. Nevertheless, some retailers have
decided to move glass-fronted chilled
cabinets to display their beverages.
Alternatively, such products are placed on
shelves at eye level or, potentially more
tempting still, near checkouts.

QUESTION: In supermarkets, goods placed
near checkouts sell best.

QO True
O False

@ Cannotsay
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Merchandising tactics, which address the
effective packaging and positioning of goods,
have long been within retailing to stimulate
customer demand. Unprecedented changes in
consumer buying habits and the escalating
sophistication of technology have encouraged
the beverage retailers to make up lost ground
and to adopt the merchandising philosophy
wholeheartedly after years of neglect.

The principal penalty incurred by past caution
is that decision-making is now hampered by
the scarcity of quality merchandising
research. Nevertheless, some retailers have
decided to move glass-fronted chilled
cabinets to display their beverages.
Alternatively, such products are placed on
shelves at eye level or, potentially more
tempting still, near checkouts.

QUESTION: The application of merchandising
principles is a recent innovation within general
retailing.

QO True
@ False

QO Cannotsay
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Merchandising tactics, which address the
effective packaging and positioning of goods,
have long been within retailing to stimulate
customer demand. Unprecedented changes in
consumer buying habits and the escalating
sophistication of technology have encouraged
the beverage retailers to make up lost ground
and to adopt the merchandising philosophy
wholeheartedly after years of neglect.

The principal penalty incurred by past caution
is that decision-making is now hampered by
the scarcity of quality merchandising
research. Nevertheless, some retailers have
decided to move glass-fronted chilled
cabinets to display their beverages.
Alternatively, such products are placed on
shelves at eye level or, potentially more
tempting still, near checkouts.

QUESTION: The application of merchandising
principles is a recent innovation within general
retailing.

O True
@® False

QO Cannotsay
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Merchandising tactics, which address the
effective packaging and positioning of goods,
have long been within retailing to stimulate
customer demand. Unprecedented changes in
consumer buying habits and the escalating
sophistication of technology have encouraged
the beverage retailers to make up lost ground
and to adopt the merchandising philosophy
wholeheartedly after years of neglect.

The principal penalty incurred by past caution
is that decision-making is now hampered by
the scarcity of quality merchandising
research. Nevertheless, some retailers have
decided to move glass-fronted chilled
cabinets to display their beverages.
Alternatively, such products are placed on
shelves at eye level or, potentially more
tempting still, near checkouts.

QUESTION: The shelves near checkouts are
often positioned at eye level.

QO True
@ False

O Cannotsay
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Merchandising tactics, which address the
effective packaging and positioning of goods,
have long been within retailing to stimulate
customer demand. Unprecedented changes in
consumer buying habits and the escalating
sophistication of technology have encouraged
the beverage retailers to make up lost ground
and to adopt the merchandising philosophy
wholeheartedly after years of neglect.

The principal penalty incurred by past caution
is that decision-making is now hampered by
the scarcity of quality merchandising
research. Nevertheless, some retailers have
decided to move glass-fronted chilled
cabinets to display their beverages.
Alternatively, such products are placed on
shelves at eye level or, potentially more
tempting still, near checkouts.

QUESTION: Beverage retailers have a wealth
of merchandising information to guide them.

QO True
@ False

O Cannotsay



Test: KPMG TYPEB

Q29 29 of 50

Although the number of companies actively
promoting “customer care” has escalated in
recent years, emphasis on such publicity has
raised customer expectations, leading to a
corresponding increase in complaints.
Research published last month demonstrated
that only one in twenty dissatisfied customers
bothers to complain to the company
concerned.

This inertia typically reflects the belief that no
one cares about their opinion, either positive
or negative, and to a lesser extent, uncertainty
about the proper channels to use. The
research also suggested that each disgruntled
consumer is liable to communicate their
discontent to at least eleven other contacts.
Those whose complaints are successfully
resolved are 50% more inclined to show
loyalty.

QUESTION: Banks only hear about a few of
the complaints that their customers have.

@® True
QO False

QO Cannotsay
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Although the number of companies actively
promoting “customer care” has escalated in
recent years, emphasis on such publicity has
raised customer expectations, leading to a
corresponding increase in complaints.
Research published last month demonstrated
that only one in twenty dissatisfied customers
bothers to complain to the company
concerned.

This inertia typically reflects the belief that no
one cares about their opinion, either positive
or negative, and to a lesser extent, uncertainty
about the proper channels to use. The
research also suggested that each disgruntled
consumer is liable to communicate their
discontent to at least eleven other contacts.
Those whose complaints are successfully
resolved are 50% more inclined to show
loyalty.

QUESTION: The number of complaints
received has diminished as companies
strengthen their commitment to customers

O True
@ False

QO Cannotsay
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Although the number of companies actively
promoting “customer care” has escalated in
recent years, emphasis on such publicity has
raised customer expectations, leading to a
corresponding increase in complaints.
Research published last month demonstrated
that only one in twenty dissatisfied customers
bothers to complain to the company
concerned.

This inertia typically reflects the belief that no
one cares about their opinion, either positive
or negative, and to a lesser extent, uncertainty
about the proper channels to use. The
research also suggested that each disgruntled
consumer is liable to communicate their
discontent to at least eleven other contacts.
Those whose complaints are successfully
resolved are 50% more inclined to show
loyalty.

QUESTION: Business is lost when individuals
share their negative views with others.

® True
O False

QO Cannotsay
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Although the number of companies actively
promoting “customer care” has escalated in
recent years, emphasis on such publicity has
raised customer expectations, leading to a
corresponding increase in complaints.
Research published last month demonstrated
that only one in twenty dissatisfied customers
bothers to complain to the company
concerned.

This inertia typically reflects the belief that no
one cares about their opinion, either positive
or negative, and to a lesser extent, uncertainty
about the proper channels to use. The
research also suggested that each disgruntled
consumer is liable to communicate their
discontent to at least eleven other contacts.
Those whose complaints are successfully
resolved are 50% more inclined to show
loyalty.

QUESTION: Dissatisfied customers are not
always clear about how best to voice their
complaints.

® True
O False

O Cannotsay



Test: KPMG TYPEB

Q33 33 of 50

To improve the town’s overcrowded school
system, the town council has proposed an
ambitious education plan to reduce classroom
size and make capital improvements — a plan
they intend to pay for with an increase in
property taxes for homes valued over
$500,000. Although the school system
desperately needs improving, the town
council’s plan should be defeated because the
majority of the people who would end up
paying for the improvements receive no
benefit from them.

QUESTION: Which of the following, if true,

provides the town council with the strongest
counter to the objection that its plan is unfair?

(O Even with the proposed increase, property taxes in the town are well
below the national average

O Paying for the school system improvements using existing town
funds will resultin shortfalls that will force the town into arrears

(O The teachers in the town's school system receive some of the lowest
salary packages in the immediate area, which is a major cause of
attrition

@ Smaller class sizes and capital improvements in a school system tend
to increase property values in the surrounding community

OA feasﬂ)lhéy study has shown that the cost of the improvements will
likely be 20% higher than projected
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To improve the town’s overcrowded school
system, the town council has proposed an
ambitious education plan to reduce classroom
size and make capital improvements — a plan
they intend to pay for with an increase in
property taxes for homes valued over
$500,000. Although the school system
desperately needs improving, the town
council's plan should be defeated because the
majority of the people who would end up
paying for the improvements receive no
benefit from them.

QUESTION: Which of the following, if true,
most strengthens the argument above?

(O The town's school systemis currently ranked among the worstin the
state

(O Other towns nearby that have made similar capital improvements did
not find that the improvements translated to a better quality of
education

(O The town will need to spend additional money on an architect's plans
for the capital improvements

(O An examination of the tax rolls shows that most homeowners in this
category no longer have schoolage children

@® Some homeowners will delay home improvement projects in order to
keep value of their homes below $500,000




Test: KPMG TYPEB

Q35 35 0f 50

A pioneer journalist, Nellie Bly’s exploits
included circling the globe faster than Jules

Verne’'s fictional Phileas Fogg.

O Apioneer journalist, Nellie Bly's exploits included

O Lh: exploits of Nellie Bly, a pioneer Journalistincluding in her exploits

O Nellie Bly was a pioneer journalistincluding in her exploits the

@ Included in the pioneer journalist Nellie Bly's exploits are

O The Pioneer Journalist's exploits of Nellie Bly included
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A eonifbufionito:a favorie charitybeihg:sent
instead of flowers when a colleague dies is
becoming more the rule than the exception
when it comes to funeral etiquette.

@ A contribution to a favorite charity being sent instead

O Acontribution being sent to a favorite charity as opposed.

O To send a contribution for a favorite charity instead.

O Sending a contribution to a favorite charity instead.

O Sending a contribution to a favorite charity as opposed.
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Choose the pair that best expresses a
relationship similar to that expressed by the
original pair.

QUESTION: Preempt: Precedence:

O Dissemble - Diplomacy

O Superintend - Culpability

@ Preside - Arbitration

O Acquire : Possession

QO Divest: Implication
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Although the word “phonetician” is popularly
associated with Henry Higgins’s task of
improving the diction of Eliza Dolittle in My
Fair Lady, in linguistics,_it is someone who
studies the formation of language.

QO lItis someone who studies

O Itis a person studying

@ Itrefers to someone who studies

QO They are people who study

QO Itis in reference to people who study
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Choose the pair that best expresses a
relationship similar to that expressed by the
original pair.

QUESTION: Lien: Calm:

O Brief: investigation

O Mortgage interest

@ Foreclosure: pleading

QO Garnishment presumption

O none of the above
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One of the below has NOT served as a
Director General of the World Trade
Organization?

QO Mike Moore

O Peter Sutherland

40 of 50

® AjayBanga \/

O Pascal Lamy

O Roberto Azevedo
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When did the war between Russia and Ukraine
begin?

O 2019

® 2014 N~

O 2023

O 2024

O 2021
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The World Bank consists of the following
organisations:

|. The International Bank for Reconstruction
and Development

Il. The International Finance Corporation

Ill. The International Development Association
IV. The International Centre for Settlement of
Disputes

V. The Multilateral Investment Guarantee
Agency

QO lonly

QO landlll

@® LIl and v

QO All of the answers \ /

A\ 4
QO landll
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Foreign exchange is the rate at which one
currency is exchanged for another. Assume
Naira exchanges at N350/dollar, then the
Naira appreciates when:

Q Itexchanges atN360/dollar

QO Itis sold only by the Central Bank of Nigeria

QO Itis sold only to importers of physical goods

@ itexchanges atN300/dollar

O The Naira doesn't appreciate
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What does IDA stand for?

O Immunization Drug Agency

O International Development Agency

O Immuno-Deficiency Agency

@ Intemnational Development Association \/
O Indep =
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When was the World Health Organization
founded?

@ 7April 1948 \/
O 1 January 1995

O 12December 1950

O 12 January 1945

O 25 August 1994




SeamlessTesting -

Q46

Which of the following is a fund of African
Development Bank Group aimed at achieving
its purposes and functions of inclusive
growth, and the transition to green growth?

@ The African Development Fund \/
O Nigeria Trust Fund
O The Arab 01l Fund

Q© The Special Relief Fund

O Al of the answers
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Which of the following is not an operational
priority of the African Development Bank

O Infrastructure development

O Regional economic integration

O Private sector development

O Governance and accountability -

@® Economic and agricultural sustainability
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The World Bank consists of the following
organisations:

|. The International Bank for Reconstruction
and Development

1. The International Finance Corporation

Ill. The International Development Association
IV. The International Centre for Settlement of
Disputes

V. The Multilateral Investment Guarantee

Agency

O lonly

O landlll

@ LI lland V

O Al of the answers v

O landll




